

Write answers on this side of the paper only.

$$\square (a) \frac{d}{dt} A = -i\omega(A - \alpha), \quad \frac{d}{dt} A^\dagger = i\omega(A^\dagger - \alpha^*);$$

$$A(t) - \alpha = e^{-i\omega(t-t_0)} (A(t_0) - \alpha) \quad \text{or}$$

$$A(t) = \alpha + e^{-i\phi} (A(t_0) - \alpha) \quad \text{with } \phi = \omega(t-t_0);$$

$$A^\dagger(t) = \alpha^* + e^{+i\phi} (A^\dagger(t_0) - \alpha^*).$$

$$(b) i\hbar \frac{\partial}{\partial t} \langle \alpha^*, t | \alpha', t_0 \rangle = \langle \alpha^*, t | H | \alpha', t_0 \rangle$$

$$\text{with } H = \hbar\omega (A^\dagger(t) - \alpha^*) (A(t) - \alpha)$$

$$= \hbar\omega (A^\dagger(t) - \alpha^*) e^{-i\phi} (A(t_0) - \alpha)$$

$$\text{and } \frac{\partial}{\partial t} = \omega \frac{\partial}{\partial \phi}, \quad \text{so that}$$

$$i \frac{\partial}{\partial \phi} \langle \alpha^*, t | \alpha', t_0 \rangle = (\alpha^* - \alpha^*) e^{-i\phi} (\alpha' - \alpha) \langle \alpha^*, t | \alpha', t_0 \rangle$$

$$= \langle \alpha^*, t | \alpha', t_0 \rangle i \frac{\partial}{\partial \phi} \left( (\alpha^* - \alpha^*) e^{-i\phi} (\alpha' - \alpha) \right)$$

giving

$$\langle \alpha^*, t | \alpha', t_0 \rangle = e^{(\alpha^* - \alpha^*) (e^{-i\phi} - 1) (\alpha' - \alpha)} e^{i\alpha^* \alpha'}$$

$$\text{where } \langle \alpha^*, t | \alpha', t_0 \rangle \Big|_{t \rightarrow t_0} = e^{i\alpha^* \alpha'}$$

incorporated.

$$(c) \text{ Since } |n=0\rangle = |\alpha=0\rangle, \quad \langle n=0| = \langle \alpha^*=0| \text{ we have}$$

Question 2/3

Write answers on this side of the paper only.

Do not write on either margin

$$\begin{aligned} \text{probability} &= |\langle 0, t | 0, t_0 \rangle|^2 = |e^{\alpha^* (e^{-i\phi} - 1) \alpha}|^2 \\ &= e^{-2(1 - \cos \phi) \alpha^* \alpha} = e^{-|2\alpha \sin \frac{\phi}{2}|^2} \end{aligned}$$

$$\begin{aligned} \text{[2]} \quad \vec{F} \times \vec{F} &= p^2 \underbrace{\vec{R} \times \vec{R}}_{=0} + x^2 \underbrace{\vec{P} \times \vec{P}}_{=0} + \underbrace{\vec{L} \times \vec{L}}_{=i\hbar \vec{L}} \\ &+ xp \underbrace{(\vec{R} \times \vec{P} + \vec{P} \times \vec{R})}_{=0} + p \underbrace{(\vec{R} \times \vec{L} + \vec{L} \times \vec{R})}_{=2i\hbar \vec{R}} \\ &+ x \underbrace{(\vec{P} \times \vec{L} + \vec{L} \times \vec{P})}_{=2i\hbar \vec{P}}, \text{ so that} \end{aligned}$$

$$\vec{F} \times \vec{F} = i\hbar (2p\vec{R} + 2x\vec{P} + \vec{L}) = i\hbar (2\vec{F} - \vec{L}).$$

$$\text{[3]} \quad (a) \quad 2x^2 + y^2 = 1.$$

$$\begin{aligned} (b) \quad \text{Since } L_+ | \rangle &= |2, 1 \rangle y \hbar \sqrt{6} + |2, -1 \rangle x \hbar \sqrt{4}, \\ L_- | \rangle &= |2, 1 \rangle x \hbar \sqrt{4} + |2, -1 \rangle y \hbar \sqrt{6} \end{aligned}$$

we have

$$L_1 | \rangle = \frac{1}{2} (L_+ + L_-) | \rangle = (|2, 1 \rangle + |2, -1 \rangle) \hbar (x + y\sqrt{3}/2),$$

$$L_2 | \rangle = \frac{1}{2i} (L_+ - L_-) | \rangle = (|2, 1 \rangle - |2, -1 \rangle) i\hbar (x - y\sqrt{3}/2),$$

as well as

$$L_3 | \rangle = (|2, 2 \rangle - |2, -2 \rangle) 2\hbar x.$$

$$\text{Therefore, } \langle L_1 \rangle = \langle L_2 \rangle = \langle L_3 \rangle = 0,$$

$$\langle L_1^2 \rangle = \hbar^2 (\sqrt{2}x + \sqrt{3}y)^2,$$

$$\langle L_2^2 \rangle = \hbar^2 (\sqrt{2}x - \sqrt{3}y)^2,$$

Question. 3/3

Write answers on this side of the paper only.

Do not write on either margin

$$\text{and } \delta L_1 = \hbar |\sqrt{2}x + \sqrt{3}y|,$$

$$\delta L_2 = \hbar |\sqrt{2}x - \sqrt{3}y|,$$

$$\delta L_3 = \hbar \sqrt{8} |x| \quad \text{follow.}$$

$$\boxed{4} \quad \frac{d}{dt} H = 0 : \frac{1}{2M} \left( \vec{P} \cdot \frac{d\vec{P}}{dt} + \frac{d\vec{P}}{dt} \cdot \vec{P} \right) = Ze^2 \frac{d}{dt} \frac{1}{|\vec{R}|}$$

and with

$$\frac{1}{M} \vec{P} = \frac{d}{dt} \vec{R}, \quad \frac{d}{dt} \vec{P} = -Ze^2 \frac{\vec{R}}{|\vec{R}|^3}$$

this gives

$$\frac{d}{dt} \frac{1}{|\vec{R}|} = -\frac{1}{2} \left( \frac{d\vec{R}}{dt} \cdot \frac{\vec{R}}{|\vec{R}|^3} + \frac{\vec{R}}{|\vec{R}|^3} \cdot \frac{d\vec{R}}{dt} \right).$$

$$\boxed{5} \quad \left. \frac{d}{d\lambda} E_n(\lambda) \right|_{\lambda=0} = \langle n | \left. \frac{\partial H}{\partial \lambda} \right|_{\lambda=0} | n \rangle = \langle n | D^+ D | n \rangle$$

with

$$D | n \rangle = \begin{cases} | n \rangle + | n-1 \rangle & \text{for } n=1, 2, 3, \dots \\ | 0 \rangle & \text{for } n=0 \end{cases}$$

so that

$$\left. \frac{d}{d\lambda} E_n(\lambda) \right|_{\lambda=0} = \begin{cases} 2 & \text{for } n=1, 2, 3, \dots \\ 1 & \text{for } n=0. \end{cases}$$